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FIND-MAX-CROSSING-SUBARRAY (A4, low, mid, high)
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left-sum = —o0

sum = 0

for i = mid downto low
sum = sum + Ali]
if sum > left-sum

left-sum = sum
max-left = i
right-sum = —o0
sum = 0
for j = mid + 1 to high

sum = sum + A[J]

if sum > right-sum
right-sum = sum
max-right = j
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return (max-left, max-right , left-sum + right-sum)
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FIND-MAXIMUM-SUBARRAY (A, low, high)
I if high == low

2 return (low, high, A[low]) // base case: only one element

3 else mid = |(low + high)/2|

4 (left-low, left-high, left-sum) =
FIND-MAXIMUM-SUBARRAY (A4, low, mid)

5 (right-low,right-high, right-sum) =
FIND-MAXIMUM-SUBARRAY (A, mid + 1, high)

6 (cross-low, cross-high, cross-sum) =
FIND-MAX-CROSSING-SUBARRAY (A, low, mid, high)

7 if left-sum > right-sum and left-sum > cross-sum

8 return (left-low, left-high, left-sum)

9 elseif right-sum > left-sum and right-sum > cross-sum

10 return (right-low, right-high , right-sum)

11 else return (cross-low, cross-high. cross-sum)
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SQUARE-MATRIX-MULTIPLY (A, B)

I n = A.rows

2 let C be anew n X n matrix

3 fori = 1ton

4 for j = 1ton

5 Cij = 0

6 fork = 1ton

7 Cij = Cij + ajf - bk_,i"
8 return C

o(n°)
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Cio = Apn-Bia+ Ay By
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Cyy = Az -Biz+ Ay - Ba
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